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Homework #2 
Integration by Substitution 

1. ∫ 4𝑥(2𝑥2 + 1)7𝑑𝑥 1
8

(2𝑥2 + 1)8 + 𝐶 

2. ∫(3𝑥2 − 2𝑥 + 1)(𝑥3 − 𝑥2 + 𝑥)4 𝑑𝑥 1
5

(𝑥3 − 𝑥2 + 𝑥)5 + 𝐶 

3. ∫ 3𝑥2+2
(𝑥3+2𝑥)2 𝑑𝑥 − 1

(𝑥3+2𝑥) + 𝐶 

4. ∫ 3𝑥2(𝑥3 + 2)
3
2𝑑𝑥 2

5
(𝑥3 + 2)

5
2 + 𝐶 

5. ∫ 𝑥2

√𝑥3−1
𝑑𝑥 2

3
√𝑥3 − 1 + 𝐶 

6. ( ) ( )dxxxx 232 223 −−∫  ( )331 2
3

x x C− +  

7. ( ) dx
x

x
∫ +

32 32
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( )22

1

2 2 3
C

x
− +

+
 

8. dttt 23 32 +∫  ( )
3

3 22 2
3

t C+ +  

9. ( )92 1x x dx−∫  ( )1021 1
20

x C− +  

10. 1 2 4

0
20 (2 1)x x dx+∫  242  

11. 0 2 3 2 3

1
12( 2 )( 3 1)x x x x dx

−
− − +∫  80−  

Answers 

2 pts. Each 
No Decimals! 


